
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Mit Zehnerpotenzen multiplizieren (fehlende Zahl)

5, 254 × ________ = 525.4 9, 739 × ________ = 9739

3, 647 × ________ = 364.7 3, 523 × ________ = 352.3

4, 094 × ________ = 4094 6, 303 × ________ = 630.3

3, 248 × ________ = 32.48 3, 852 × ________ = 3852

6, 613 × ________ = 661.3 6, 13 × ________ = 61.3

4, 915 × ________ = 491.5 3, 663 × ________ = 36.63

4, 96 × ________ = 4960 6, 506 × ________ = 650.6

4, 171 × ________ = 4171 1, 241 × ________ = 1241

6, 826 × ________ = 68.26 9, 307 × ________ = 930.7

9, 559 × ________ = 955.9 8, 783 × ________ = 8783
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Mit Zehnerpotenzen multiplizieren (fehlende Zahl)

5, 254 × 100 = 525.4 9, 739 × 1000 = 9739

3, 647 × 100 = 364.7 3, 523 × 100 = 352.3

4, 094 × 1000 = 4094 6, 303 × 100 = 630.3

3, 248 × 10 = 32.48 3, 852 × 1000 = 3852

6, 613 × 100 = 661.3 6, 13 × 10 = 61.3

4, 915 × 100 = 491.5 3, 663 × 10 = 36.63

4, 96 × 1000 = 4960 6, 506 × 100 = 650.6

4, 171 × 1000 = 4171 1, 241 × 1000 = 1241

6, 826 × 10 = 68.26 9, 307 × 100 = 930.7

9, 559 × 100 = 955.9 8, 783 × 1000 = 8783
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